Halo

USER GUIDE

1 MANERA



HALO USER GUIDE N

% AAAAAAAAAAAA W :

A PRODUCT IS AS DURABLE AS THE LEAST DURABLE OF
ITS PARTS.

In order to reduce our carbon footprint and offer a better
service to our customers, the HALO is assembled in
different parts that are not stitched or glued, therefore
they are easily replaceable.

We will stock spare-parts and will be able to replace any
part in case of a manufacturing defect. We will also offer
the spare-parts to sell if a customer just wants to change.

SPARE PARTS

HALO HARNESS

Components.

SOFT SPARE PARTS

ARC BUCKLES

STRAP & PLASTIC BUCKLE
PIVOT INTER

PIVOT EXTER

e o M5 SCREW + M5 NUT FOR AXIS
0 ADAPTIVE SKIN

o HARDSHELL

@ KITE KNIFE

NEEDED TOOL

(—

TORX 6MM

—=

—® ®




W

HALO USER GUIDE

1 UNSCRATCH INTERNAL PIVOTS(4) UNDERFLAP

l|- REMOVE WEBBINGS(3) FROM BUCKLES(2)

7 SPLIT PARTS

SPARE PARTS

HALO HARNESS

How to dismount the Halo.

2 REMOVE INTERNAL PIVOTS(4) FROM SOFT NEO(1)

\\ v
\=u'e e oo 'ss’,
NN LI AL LA

A\ '\ 177

5 REMOVE WEBBINGS(3) FROM ADAPTIVE SKIN

8 CHANGE THE SPECIFIC PIECE

3 REMOVE WEBBINGS(3) FROM BUCKLES(2)

G UNSCREW THE SST SCREW(6)




HALO USER GUIDE &

o HOOK HOLES e ROPE HOLES

A WARNING: USE ADAPTED HOLES

SPREADERBAR

HALO HARNESS

Components.

SST SCREWS

ERGONOMIC FOAM

FLAT SCREW

M6 NUT

SST WASHER

00000

e SPREADER ARC

0 HOOK

0 SLIDING ROPE

TOOLS NEEDED

)5
C == |

TORX 6MM FLAT SCREWDRIVER
(or a room)




HALO USER GUIDE @&

T UNSCREW ssT SCREWS(1), THEN REMOVE FOAM(2)

4 PASS LOOPS AROUND FLATSCREWS(3)

S~

'
\

SPREADERBAR

HALO HARNESS

How to dismount the Halo.

2 UNSCREW NUTS(4), THEN REMOVE HOOK(7)

LA\
0

8 CHECK EVERYTHING IS LOCKED

\ Lo s 'G\/j ,//

— _—

3 PASS THE ADAPTED ROPE(8) THROUGH THE SPREADER

WARNING: USE ADAPTED SIZE
ROPE 24 FOR SPREADER 24 |
ROPE 28 FOR SPREADER 28 /
ROPE 32 FOR SPREADER 32 //




)

HALO USER GUIDE

OUR EXTENSIVE EXPERIENCE IN HARNESS
MANUFACTURING ALLOWED US TO DEVELOP THE
HALO SIZING JUST RIGHT.

In order to offer the best experience to all our
customers, we have added two sizes: S+ and M+,
These two new sizes are the exact same harnesses
as the standard S and M, except there are equipped
with a longer spreaderbar.

SIZECHART

HALO

Harness & spreaderbar.

o o

Why?

The body can take two different shapes:
- A rounder shape (someone with a big belly)
- A more oval shape (someone with larger hips)

For the same waist girth, we can then have two
completely different morphologies. By integrating
longer spreaderbar, the S+ and M+ harnesses are
made for people with larger hips.

RIDER WAIST LENGTH HARNESS WAIST WIDTH SPREADER
XS 68-76 XS 24-27 24
o WAIST LENGTH (CM)
S 74-82 S 24-27 24
e WAIST WIDTH (CM)
S+ 77-85 S 28-30 28
M 82-90 M 28-30 28
M+ 85-93 M 31-34 32
L 88-96 L 31-34 32
XL 94-104 XL 3134 32
65 70 75 80 85 90 95 1001 05 110
WAIST LENGTH (CM) : : : : : : : : : |
24 25 26 27 28 29 30 31 32 33 34

HIPS WIDTH (CM) ! f t f }



N

HALO USER GUIDE

.OO..
ot ! o
“““‘"“l,,'.(

ACCESSORIES

HALO ADAPTIVE SKIN

DETAILS

REF. 22222-5004
SIZING. XS-S-M-L-XL
COLORS. BLACK

HALO PIVOT INTER )

DETAILS

REF. 22222-5006
SIZING. UNIQUE
COLORS. BLACK

ARC SPREADERBAR

DETAILS
REF. 22232-4001
SIZING. 24CM - 28CM - 32CM

(XS-S) - (M-L) - (XL-XXL)
COLORS. BLACK

HALO HARDSHELL

DETAILS

REF. 22222-5004
SIZING. XS-S-M-L-XL
COLORS. BLACK

HALO PIVOT EXTER )

DETAILS

REF. 22222-5006
SIZING. UNIQUE
COLORS. BLACK

ARC SLIDING ROPE

DETAILS

REF. 22232-4002

SIZING. 24CM - 28CM - 32CM
(XS-S) - (M-L) - (XL-XXL)

COLORS. BLACK

HALO HARNESS

<
24
w
z
g
=

HALO SOFT SPAREPART

(x1)

DETAILS

REF. 22222-5003
SIZING. UNIQUE
COLORS. BLACK

Ul
(0]

HALO M5 SCREW
& M5 NUT FOR AXIS

DETAILS

REF. 22222-5008
SIZING. UNIQUE
COLORS. SST

ARC SST HOOK )

DETAILS

REF. 22232-4003
SIZING. UNIQUE
COLORS. SST

HALO STRAP

& PLASTIC BUCKLE

DETAILS

REF. 22222-5007
SIZING. UNIQUE
COLORS. BLACK
KITE KNIFE

DETAILS

REF. 22232-5001
SIZING. UNIQUE
COLORS. RED

ARC BUCKLES (2

DETAILS

REF. 22232-4004
SIZING. UNIQUE
COLORS. BLACK







F-ONE SAS

ZAC de |la Méditerranée
170, Route de la Foire
34470 PEROLS - FRANCE

Tél. +33 (0) 4 67 99 51 16
Fax. +33 (0) 4 67 99 61 93
WWW.MANERA.COM



